1 % 400 ARL—ULlL— HAAL—RPWK 3% 400 HHEE X A L L — AP
1 48 1 41
1 e B (AR 1) 6:57 .52
2 AR AR CBEREERE 2) 6:39 .48
2 PR 5:37.10 3R EMR T (WRME 2) 6:29 .12
i Fi-ERNE - IAR Bk BORER ) 4EHEHNY (HE 1) 6:15 .54
3 JEE 5:33 .98 5 5 IL STy B (I 1) 6:21.06
(Ffnl A& -fEH MR-l TR A EDA) 6 KiE FEHE(EREMHE 2) 6:30 .34
4 Pt R 4: 53 .79 7 R R (AR 1) RAGIA D=1 =
(AFOD % - S BE-RE &h-83s EF)
5 HERSCH 5: 00 .25 2
(P Fozg-viEy KRE-4&H LE-FK K1) 1N B (T 2) 5:35.75
6 ¥k 5: 10 .66 2@l PR (PR 2) 4:51 .91
(HHEEIEY 2R AR mEEESR i RR) 3HE B GUEREM 1) 4:42 .74
7 HERR 5:59 .86 4 HEIEY (KA 1) 4:37.12
(WA #4&-miH BiA-EBE DI n) SFEK KA GRACH 2) 4:51 .43
8 6 P4 #E (R 2) 5:02 .24
7 BEARKAAE (R 1) 5: 06 .31
8 ARZH Kk (b1 1) 5:39 .54
2 B 400 ARL—VULl— HALL—RARP
1 48 4 3 400 HHEH A L L — AR
1 PE R 5: 30 .41 1 41
A FE-=BE ED-E) P R/ 1 BRSO (% dE 2) 5:45.92
2 K 5: 47 .79 2454 BIKCHRIL 2) 5:50.32
(Fr FEKRE-AFF Foys- 4 ks ER - B )IER) 3 BB EAN (B 2) 5:25 .68
3 A 5:23 .06 4 RAINER(EE%E 2) 5:12.00
(b1 87 FEA ZE-ILE ES-EEE B ST BB CRUERSCE 2) 5: 07 .92
4 IEIg b 6 e Mes R 1) 5:32.13
W I 7 By (B 2 ) FEHE
5 s 5: 03 .87 8 KH % (A 2) RFEIA BN =
(R ER A BE BB EIRK T H)
6 R 5:38 .25 2
(=F Fk-K KA =B IF=- ey JuFF) | M2 B (W 2 2) 5:08 .34
7 HERR 5:23 .37 2 FEAS Wi (V& 2) 5:08 .80
(Feple sLEE-ER E-mH 2BE- LN AR 3 [LilF B BB (1 2 2) 4:50 .23
8 AFEAR B EFPE  2) 4:29 .03
5KRZE MR 2) 4:39 .30
6 A H O CH 2) 4:46 44
2 7THAR KR (S 1) 5:05.93
1 # 4:59 61 g HYE SRAECIHEN  2) 5:23 .88
(ZE FEm-amt Bik-Bt ek JEF)
2 %It 4: 49 .13 5% 400 fHAA RL—% A AL — AP
(W AR - RE MR ) 1 41
3 %R 4: 54 17 1 fEd: SEER (WEg 2) 7:10 .30
GO seXR-EfE =7 L ®E-%E #R) 2 (b AhE Ol 2) 5056 .57
4 FHERSCH 4:36 .52 3R AR (I 2) 5:45.29
(N FlEs-EEL #ofd- 8 BEL-mm)Il 5L5%) 4 1AL O A (B 2) 5:14 34
5k 4: 51 .81 5 = (EFFE 2) 5:26.76
(W FooL-ugH B - B H HeRE BE) 6 MitH PEFIUEFFE 1) 5:51 44
6 fHl 5: 02 .69 7 f&EH il (I, Fr- 1) 6:23.09
(oo ARd-dkde By o 22y A0 8 Jrldl  FiZs (FERHIE 1) 6:35.99
7 W fif] 4: 56 .79
OkHH &I RT  EE-MEE WMC-fEH /) 6 % 400 fHAA KL —H A L — AR
8 JHT 5: 01 .41 1 #A
S Ft-¥J1 Bm-fE B mAH ) 3RA ERE (b 2) 6:18 45
4 it Bt (s 2 2) 5:58.15
SR R ORHESCE 2) 6:21 91



2 # 5

1M R (e[ 1) 6:04.79 1 Moy B R SC# 1) 1: 08 .85
2 & B (AR 2) 5:46 .38 2 LA BKEE(EREE 1) 1:06 .74
3P FogE ()l 2) 5:51.67 3HMERT B 2) 1:06 .08
4Ry O 1) 5031 .61 456 Seme (e 2) 1:00.78
5 R K (A 2) 5:39.72 5 IR FnZE (B 2) 1:03 .62
6 BLiL R4 1) 5:40.97 6 FaFT £V A (H 1) 1:09 .16
7R PO GRS 2) 6:01.95 7R BN (e 2) 1:07 .60
8 By A (MERHER 2) 1:07 .10
3 A
1 3R RO 2) 5:24 24 8% 100 HHEX A AL — AR
2 EMH (i 1) 5:18.09 1 #A
3HHP KHEGERM  2) 5:08.06 2fH BAEGEHRE 1) 1:21.15
4/ BHECKHE 2) 4:55.06 3N R GRE 1) 1:21 .96
5 BER (R 2) 5:33.72 4Mh —EEGEHRE  2) 1:20 .64
6 fZ 1L P (R 2) 5:02.10 5 AR B CGRIL 2) 1:18 .56
7 Ve Bk (FHEMRIL 2) 5:29 .29 6 R BN (HEAR 1) RAGIA D=1 =
A MIRGUEE 2) 5:19.03 7ERER KA (R 1) 1:19 .56
7% 100 HHEE X A L L — A RP; 2 A
1 48 1 HHEE /A (BEil 1) 1:19 .50
3R HiTE (AR 1) JEHE 2KE (AR 2) 1:21.07
44 FEEAME 1) FEHE 3 REFPEEME 2) 1:17 .50
5 VHS (REJI 1) 1:28.06 4 1 FHEGE 2) 1:15 .07
6 /NI Th 2 45 (B IBE 24 S5HI FK (R 1) 1:17 .07
6 /bR RN (B ] 1) ARSI AN =
2 7R MR (EEME 2) 1014 32
1/ 5 R 1) 1:27 .28 AR IR (e 1) 1:20.75
255k 3R gk 1) 1:23 .74
3R A CBEREFRE 1) 1:26 .16 3 HH
47TH EAE (KA 2) 1:24 21 1 HEF M GEAEKE 2) 1:18 .28
S5/ B (I 2) 1:27 91 2 B R (BHEARIL 2) 1011 .65
6 1 = (iR 1) 1:19 .51 3R K (@RS 1)
TINFH D (B 1) 1:22 .21 454F 2R (AL 2) 1:12 .65
8 & H FE (e 1) 1:31.23 5% s G 2) 1:16 .52
6 (LN ALK (EERR 1) 1:10 .15
3 A THOAR MLEE(E R 1) 1:17 42
1At 20wk (B 1) 1:18 .49 8 MJIl R (R 2) 1:18 98
2 Ay HSE (B 2) 1:21 .90
3 E BAEGRARE 2) 1:21 .62 4 A
477 HRGE 2) 1:18 .50 1RKS R (At 2) 1:07 31
S5 E EFHOCGIEIN 1) 1:26 .12 2H B A 2) 1:05 .33
6 iEft% ST (EERE 2) 1:19 .97 3R SR (RAE 2) 1:06 .80
7L RFEEREFRE 2) 1:22 .98 4= = (W&EERTE 2) 1: 10 .54
P HAEMEEL 1) 1:21.11 5P FBONSEN 1) 1: 06 .83
6 ZiE  JE (s 1) 3k
4 A 7R ORH CRU el 1) 1: 13 .71
1=l = (EEM 2) 1:20 .64 8 LI RAR (BBt 2 ) HEhE
2011 AR (R4 1) 1:15 .15
3B Al (@Al 2) 1: 11 .28 5 KA
4 Bl RFECESR 1) 1: 09 .84 1 BEH oot G 2) 1:10 .14
S5KR¥ FEGSIE 1) 1:11.59 2 14 g (g 1) 1:11 .13
6 THH kA CKHE 1) 1: 15 .01 3 R EK 2) 1:06 .80
TEH W BEOHESCE 1) 1:17 .81 45 =0 2) 1: 08 .29
8 HifE  Prdn Gl 1) 1: 18 .59 S NHEERBRR (5% 1) 1:07 .88
6 By el (T 1) 1: 07 .96
7 BRSO RRR(PEEE 2) 1:09 .83
S HEL Atk (REF: 1) 1:08 .40



6 #H 3

1SEAR BN (REJI 2) 1: 05 .50 1IN Flls OB SC# 2) 1:15 .78
2 [ NBRCHR (% 2 2) 1: 04 .77 2 SER (R 2) 1:16 .88
3% MR CRIL 2) 1: 02 .56 3 54 3 (R 1) 1: 09 .61
4tk Ly (1 2) 1:05 .86 4 R AR (R 2 ) FEHE
S5EH FEANCHREREE 2) 1:05.75 St & EmE 1) 1:10 .28
6 [ s e (A 2) 1:05 .21 6 Fril R (ki 2) 1:08 .19
7 Aln AR (R 2) 1:06 .03 7 1ot AR ()1 2) 1:15 38
8 /NPE  BKAZ Rl 3L 2) 1: 09 .04 8 EA (M RAE 2) 1:18 28
7 A 11 % 100 N2 7 T A X A 5L — AR
1 @A FH— B (B 1) 1: 03 .38 1 #H
2/ A 2) 1:03 .68 3RS Bk ()1 1) 1:42 .75
3 R (A5 2) 0:59 .60 47588 AHGERR 2) 1:33.18
4 THE 2B (S 1) 0:57 .64 5 E VDA (A 2) 1:34 .37
5 & M (kB 2) 0:58.53
6 PEIl 5L GRS 2) 0:59 .15 2 #H
7 ¥ w] (% 2) 1: 00 .45 AAA Fk (AR 2) 1:21 .85
8 22 H B2 (V&R 1) 1: 04 .41 2 g (RE 2) 1:17 31
3HE EEE GRUAREL 1) 1: 08 .58
9 72 100 HIkE X A L L — AR 44H ODF AT 2) 1: 06 .24
1 48 SHRE & (@ RER 2) 1: 10 .90
138 /g ()l 2) 1:42 81 6 M k(&M 1) 1:16 .97
2 EH BB G 2) 1:35.32 7iH FE(ER 2) 1:23 27
3RARE TV (WA 2) 1:31 .31
4 MR KR (R 2) 1:24 37 125 100 X% 754 XA 5L — AR
5% tme ()R 1) 1:25 .60 1 #
6 A Bk (BT 1) 1:31 .37 3 EHH Al (5% 2) 1:29 .63
7 RhE AR (WEREE 1) 1:22 .81 4EH B (R 2) 1:34 .78
5 7Bk = OmE)I 1) 1:26.76
2 #H
1 FnE A (B 2) 1:25 .63 2 #H
2K AL (BE 1) 1: 16 .50 1 K (AL 2) 1:22.71
3 FNZE CRAERSCHE 2) 1:17 42 2ARFT 7AW &I 1) 1: 20 .46
4 EHBAE 1 (B 2) 1:10 .48 3%ZH R (BRI 2) 1:24 .69
5% My R 2) 1:14.77 4 iy B (&ALRHE 1) 1:19 .51
6 RFON2 (B AR 1) 1: 19 .07 ST mAE (A 2) 1:21.29
7 KB SERE (K 2) 1:08 .95 6 RE BEGE 2) 1:24 .17
8 A M AR 1 (A% 2) 1:23 .55 7 Nk 1 (2 2) 1:24 .75
8 HfF sz ROl 1) 1:27 48
10 5 100 ik X A L L — AR B
1 48 3%
1HE #Hm=smEMtE 1) 1:38 .23 1)1 FE (MR 2) 1:16 .49
20 B3R 1) 1:35.00 2 R EROIES 1) 1:12.72
3HAF A ChE 2) 1:29 .92 34 A B E A CRu s 2 ) 1: 09 .35
4 [ ERK (A 1) 1:30 .74 45873 Bt OB SC# 2) 1: 06 .99
5OMEE A ()l 2) 1:23 .32 5P E RIEUEE 2) 1:16 .16
6 A  OLHEGEREME 2) 1:35 .64 6 fEH =5k (T 2) 1:17 54
7/ EBRGEERE 2) 1:34 .80 7 HH ENGER 2) 1:19 55
AT S (PHE K 2) 1:18.19
2 #H
1 BEH ot G 2) 1:28 .09 13 72 100 Fpk & # A L L — AR
2% RERBI(EESE 1) 1:23 .94 1 #A
3T R ORIE 2) 1:24 .69 3 R A (EEAR 1) 1:45 .80
4 Bl Gk Ol 2) 1:18 .21 4 KH  Befd (I 1) 1:45 .94
5 FBEEURER CRIL 2) 1:23 .69 SHIH B (HERR 2) 1:41.79
6 M FEEE (L 2) 1:29 34
7R SR (AR 1) 1:23 .57
8 I\A  BHAL (W&ACRHE 2) 1:32 .94



2 fH

2 e (HERER 1) 1: 46 .99
34eAR RECEEREERE 2) 1: 44 .35
4755 MEEGEEE 1) 1:43 43
SHEE ELUEFRE  2) 1:36 47
6 TANEF (WRME 2) 1: 36 .82
7HE LA @I 2) 1:44 38
34

14hE Aok (i 1) 1:34 .46
2RME bRk 2) 1:28.16
3EE HE (P 1) 1:19 .28
4 WA ER(ESR 1) 1:17 .85
5 RH (A 2) 1:18 .02
6 /N EHECGRILE 1) 1:24 .51
7 R4 FE (W RKE 1) 1:33 .65
S IHE EAXK(TH 1) 1:33 .24

14 5 100 Ik E % A L L — AR

1 4

2E #H(im
3 AR (R
4R RAGEEEKRE
58 ABuk OLHER SC#
6 211 FRKCGEHR
7)) FEACGERR

2 #H

1584 FE(ERHE
2 5 # (Rl
3IAT BBy
4wk FBY (KR
SR RREME (% re bR
6 VLU E RS (&t
745 s (PER %

8 EAT  JEEE (GRsE

34

AR B8
2 (R
3L AW (R

4 AL K (FHEBk L
5 LT BRCRRR (5 2

6 Bafim  —2E (WAL
725 R R
8l i E (AR

4 8
L/ FESr (R AL
2R AICKR=E

38k fEiE (E

4 80 B (LR
5@ se (e

6 WM Bk O

7L Rk R sC#
8l FAR (IR

2) KA bF-N =
1) KA b= =

2) 1:34 .38
IBE 24

2 ) RAEIABT—N =
1) 1:34 .50
2) 1:34 .56
2) 1:34 .07
2) 1:34 .12
2) 1:23 .21
2) 1:34.73
2 ) 3EF

2 ) FEHE

2) 1:35.21
1) 1:26.16
2) 1:25 .82
2) 1:22 .29
1) 1:20 .28
2) 1:21 .57
2) 1:22 .35
1) 34

2) 1:35.39
2) 1:19 .16
2) 1:17 .04
2) 1:11 .41
2) 1: 09 .46
1) 1:13 .38
2) 1:12.19
2) 1:16 .28
2) 1:20 .49

1522 200 U L—& A b L — APk

1 %2

3 P AUB R 2: 32 .19
(R 2 Bl (AR i
4 FE)II 2: 19 .01

UNE RREE Al k-
5 R 2: 15 .83

(E E EE-HA P

2 A

1 BfHE AR 2: 21 .41
(A OD % - &N A
2 eI 2: 16 .43

(B WifE -1 K-
3 4hE 2:12 .53

UM HRA- Ay A
4 BfHEMKIL 2: 00 .99
(KW BHE-B)II (e

58 2:10 .88
(IUABOAJIFH -
6 L 2: 20 .85

(FHW S IR B3
7V 2: 17 .04
(LA Ft-m B
8 fJIl 2:25 .76
GIRZE Kk KB Abk:

e
22N

B

¥

{0 B {1« BT

F-RRNEF)

Hif- -

A8-HiH

o=

i

A i) R 3 - A

Y

TR

kit - AR

BA-JUR

xH)

1 4%)

Ak EHHNY)

16 5 200 U L—% A b L — ARBE

1 %A

3 BRT 2:40 .13

(FEH  &Hoo-F KA
4 ¥&ALBKE 2: 19 .57

(Hh iy B AR BHAL-
5 AR 2:10 .12

(Fepk sLE-mHE 2

2 4

1 &[] 2:28 .75

(R v SR EN -
2 KiE 2:23 54

QR N AR 2= 7 N N
3%/ HE 2:25 .60

U BRI B4

4 8l 2: 14 .71

OF RBERAR - H £
5Bf 2:26 .55

OkH MR- 2 R
6 K 2:32 .35

(FFEE -7 CHke
7 Y& EEMHE 2: 02 .24
(=40 I=-Res o

L

B m

Hi P

I o

B A
B 160 - B

AR R

B - /AR
BB /)N

— it - ph s

KBRS B - J5

AL

L

CERS e
Bt it

PaifE - /NS

Je)
KFH)

HE)

PNi1))
EK)

R®E)



3
1At 2: 04 .04

(fam BIr-m% KA-

2 FERSCH 2: 03 .90

Hg

ARF PETD

CNE BN RS- AREZ TR (2R

3¥%dk 2: 04 .68

ORF7 7 v NLRERIER-AKS w3 %)

4¥EE 1: 57 .66
(AR
ST 1: 59 .62

(BFF - R

6 447 2: 02 .03

(B0 HEST-B%EF ZER-

7N 2: 03 .42

O ER-ER &k

8 Wi 1: 59 .02
O &g - H

17 % 200 A FL—V L —

1 4

2 FE KR 3: 04 .44
(K
3 AR fE ML 2: 31 .82

(%M BRfE-PE B

4 PR RHE ok )
CR - AAR- 4 3E
5011 2: 49 .03

EINGEY RPN - L

6 BB REEARE 2: 57 .72

(FRE FIR-AEA &

7 FEAR 2: 53 .02

(L - -

2 #H

1 EZRE 2: 44 27
(B BR AL 2 - L
2 Wi 2: 37 .27

(fEH ER-HrE -

3k 2:24 87

OUR )l D%
4 BBk 2: 20 .05
(B A8 - AR H -

5 KA 2:29 41

CEREARSEF - B KE-

6 Bt @ 2R 2: 39 .67
(B9
7 B 2:47 .55

(LA B3e-shE Rk

8 FEJII 2: 39 .34
(P& £H -

8RBk 5EX-

- JEH

FHE-deE R

Tl -

M-t B

R

NS N

CE PN
CE
T

75 W

KK

3 & il
/N IR

HiA

- HLH =0T

B AL

HALOS:

KH HE

R A

DEL S

e S e

N R

ZA Lb—

I F5 e

kb

g2 /N1

-4 2 B)))
)
SR 4R2E)
IR MIR)
- BB OEA)

AP

MR ZEME)
A
V4 [
Hb)
HiA)

HR)

et A7)
AT B AT
DINES
A
ol

I

et

18 5 200 A RL—U L—Z A L L — AR

1 %0

2FHE 2:46 21

g\ FE4A-EZi FJK-
3 W [ 2: 57 .30

(FE k- R EN -
4 TABE L HEAE

A,

5 KIE 2: 44 24

(A JEE -/ i
6 FRARIEHE

JHERR

7 EALME 2: 38 .94

UK BtL-f8m Bl -
2 4

1 ¥R 2: 33 .94
bk =R .
2 5T 2:28 .68

(kT KE-EAR R
3 2: 37 .64

(HH ff&-EY SR
4 Ktk 2:33 82

(H B ARKS Hidg-
5 HI 2:25 .58

(F B BER AR - s =3
6 L 2: 49 .90

G Bb-W
7k 2:57.79

Gt ER-EE CHIK-
8 WElk 2: 16 .62

(Fri #m-Rr =
34

1 &P 2: 21 .18

(BEH mER-AH B
2 A 2: 21 .19

(| =5 R
3VEAE 2:14 .75

b BEh - L R BRORHAR -
4 7% 2:12.75

(PR K- FEE 20
5 EEARIL 2: 13 34
(b k-l HEAT
6 1Ak 2: 26 .43

(HE REEL Rk HEA -
7 HCER ST 2: 20 .10

(B H HEAREEZI
8 A<hE 2:26 .39

(P 35w Al

I o

IR

finy

g

A

g

HA

syl

%

=8|

e

HE

—iE Nl )

WA )

Wide- gk K

PH-mh &)
)

Je-EH )
SER AR )
BITARA R
R - A BB EA)
(R EANPN 1))

- AL )

SLIE - JRE RHR)

L - T I RR)
TSR EH )
- 2 R 2 Bh)
S N ERR)
EHUNE S (N N
AR-FA R
8/ KAD)

FR - B RRAT)



19 %2 200 flHA A RL—& A L L — A B 4

1 48 1AbRS SRk G 1) 2:34.70
3 e (HERE 1) 3:16 .32 2 R K G 2) 2:30.39
47T E < B (R 1) 3:12 .24 3EH FEGRIL 1) 2:24 .15
54k A ()11 1) 3:13 .56 4l A3 (IR 2) 2:20 .47
5K &S 2) 2:21.00
2 8 6 T KHE(WERR  2) 2:23 31
1 7 %A MRORE 2) 2:33 .81
2/ A (A% 1) 3:09 .64 QKM EEK (B 2) 2:35 .84
3fEH MR OB 1) 3:03.71
4l 2R (MBS 2) 2:49 .92 21 22 50 HHEH A L L — AR
S5/ REE (BRI 1) 2:54 .51 1 #H
6 /INE Fh A (BT 1) 2:55.57 2 A HHEERME 1) RAEEMA - -
7B AHOEERR 2) 3:10.14 3 VDHD R 1) 0:40 .63
4 B W5 (i 1) 0:39 .63
34 SARHE  FIAR (BEREERE 2) 0:41 .22
L dE BEFn(EEFE 1) 2: 46 .84 6 A% R (AT 2 ) FEHE
27 AR (Al 2) 2:47 .11 7 MR ZEME (PR 1) RS - -
3 = (EFBE 2) 2:37 .65
4 IR B OA (B 2) 2:30.19 2 #H
5K FR 2) 2:29 .34 2 58 (I 1) 0:34 .59
6 A RE (KA 2) 2:33.50 3 B 1) 0:37.06
7AW (R 2) 2:46 .48 49k RO 1) 0:39 .83
8 BEATHIA (MBI 1) 2: 44 34 5 /511 Jh & 45 (B B 1) 0:42 .00
6 [ ZFE (FE 1) 0:38.54
20 % 200 fHA A KL —& A AL — AR 7%?@%*’12(%%& 2) 0:39 .27
1 4
1AL J A G 1) 3:28.78 3%
2 1IN ALK (g 1) 3:03.08 29k B - (BRI 1) 0:40 .08
3EME B (WREME 2) 3:00 .82 3EIN BT (B RER 1) 0: 38 .74
410H HEROGEEE  2) 2:51.85 4 s EOLWE,M 1) 0:40 .27
SEA &OuE 1) 2:45 .25 SORE ARk (I 1) 0:36 .49
6 /Ma F KA 1) 3:10 .63 6 ik FEHR(EK 1) 0:35.09
7 Ve BLEE (EERR 2) 2:59 .56 7EH FE (e 1) 0:40 .61
2 %A 4 %1
AR 3 OHERSC# 2) 3: 00 .90 2 8 EML(CS 2) 0:37 .80
23t Rt (s 2 2) 2:47 45 3/ B ()1 2) 0:37 .98
3EM FHE G 2) 2:44 .75 4 B4 T (&=t 2) 0:36 .83
4 gEEr thk (A&~ 1) 2:50 .89 S5THH FA@EEKE  2) 0:35.50
5 3L (4% 1) 2:42 .93 6 ZVE A ([iRF 1) 0:35 .86
6 K R (AR 2) 2:48 .45 78R A CEREFERE 1) 0:38 .36
7 HEE K (oW 1) 2:52 .66
8 LA HER(FEE  2) 2:56.52 5%
2R FHIGEEE  2) 0:37.72
34 3PE BAEGRAE 2) 0:36.02
1 RS o Gads 2) 2:48.79 4 AR TVOER (A 2) 0:36 .11
2K BER O 2) 2:36.16 5 Plés GReaReEH 1) 0: 35 .63
3ot AR (I 2) 2:37 .20 6 =il HE(EEM 2) 0:35.17
4EM KEWF7ZFE 1) 2:33.77 7 AT B B A (RS 2) 0:35 .67
54 F B Bt CrRRRaEid 2 ) 2: 37 .19
6 #1197 A (G 2) 2:38.03 6 Hi
7R Rk O 1) 2:38 .45 1
8/NE WA EEEME 1) 2:47 .92 2 58W Mk Ol 1) 0: 34 .09
3 miE B (RE 2) 0:32 .28
4 B KL CR%E 1) 0:32.08
SR mECAS R 1) 0:32 .31
6 FEAS VB GRS 1) 0:33 45
TR AL BEEMkIL 2) 0:32 .12



7 A

3B A (R UL
456G Deme (i
5Peik Skt (R Mk
6 MRS Bt (W e

7 VAT ETD A (B

2 %8 50 HHEZ A L L —APB

1 #A

3 REE (AR
4lE WAGEHRR
SRR Bffh (AL
2 #A

2 Nk TE RERR
3N 2 (k
43 EXGE
shE EH(CSE
6 FH  f&IE (HEAR
TR R (PR

3 %A

292H KEGEI
3T BN (CZ4
4B TR GER

5 KABRFIE G

6 =% JRIk @bkl
7V KiEH (RH T

4 i

2@ FrE Ut
3fmhE = (I

4 EAE i TR
5 R — BB (At

6 Wl e (e i
7/ i ORIE

54

248 KA A
3RER RO
4 [ HAE s
5 HHEE /S (Bl
6 A FENCEIL
7 M R CGEL

6 #H

213 BE (EHEKE
3WF HEE
4P B GrUf SCEk
5 AR EALKE
6 fEr  JuFF (W TR
7R S GEP

7 #

27 H(ER
3EF FAIE (Wi

4 /NP BT R ST
SR KR (b

6 TFAME KL (15 2
7R #ok O

2)
2)
1)
2)
1)

0: 30

0: 29
0: 30
0: 31

58
0: 28 .25 K&x¥r
14
26
31

1) 0:32.09
1) FEHE
1) 0:39.11

1) FEHE
1) FEHE
1) 0:38.17
1) 0:39.11

1) A IADA= =

1) 0:37.55

1)
1)
2)
2)
2)
1)

38
39
38
38
36
39

e

1) 3EF

2)
1)
2)
1)
1)

2)
1)
2)
1)
1)
2)

1)
2)
2)
2)
2)
1)

137
32
34
37
36

e

35
35
32
36
33
36

e

33
33
32
33
31
32

e

1) FEHE

2)
2)
2)
1)
2)

0: 30
0: 31
0: 31
0: 32
0: 33

75
18
.00
.54
35
32

A8
81
.65
.55
.82

.53
.35
.58
.02
.93
1

.52
21
.88
.76
.95
.62

.87
78
21
.07
A8

8 KA

2 10F
3 [l
4 PEF
5 KFF
6 AR
7 ik

9 #i
2 EH
3 % H

ik CR&
etk (W2
R (fE
JEfa (AT
Kt CRL AR A1
i (k]

FEN (B R
b (s

4 A — 3 (B

5
6 LA

R, (79 8%
B (RN

7 M RS ([RE A

10 #H
3
4'EH
Al
6 &I
7 G

RS (4%
(b

RN CZIN

f g (W 4 i)

i (fHE kL

2)
2)
1)
2)
1)
2)

2)
1)
1)
2)
2)
1)

2)
2)
2)
2)
2)

e

S

e

32
30
31
29
32
30

30
29
29
28
29
27

27
26
27
28
27

23 4 50 WIKE X A b L — AP

1%
3R
4 53

Bz (WRHE 1) JEHE

R (ke

5 FHBTZD (KEE

2 %
2 K

HEEL (P9 LR

37 S < B (AR

4 K¥
578 Lk
6 &
7 H

3%
2 =i/
3 JEE

S (Vi
S0 (B
W2 (A
EIACT

ZH(ORHE
HAE (LI

4 EHAET (5P

5 B

B (R AR

6 ARFFO % (BT I 5THB
7 AT BR S (AR5

1) 0:43
2) 0:47
2) 0:45
1) 0:45
2) 0:32
2) 0:45
1) 0:45
2) 0:44
1) 0:39
1) 0:35
2) 0:32
2) 0:35
1) 0:36
2) 0:38.

24 B 50 WIKEHX A L L — APRB

1 %0
2 R
3)1A
4 R
574

i SENCEEE
FEEARE
PN CH

6 [ HE.Z 1A (i

1) FEME
1) 0:43 .81

2) R IA-N =
R (P AUFHIR 2 ) BB A0 -
2) KB =

.20
.64
.03
.94
.83
.59

43
32
31
.93
51
8

72
AT REH
05 R&H
92
81

.84
38

22
.64
7
.14
52
15

98
13
30 AUFBT KRB
31
28

53



2 2 #

2\ EUK (B Ak 1) 0:42 .64 3 RAPEER GR WL 2) 0:44 26
3B RN (B B 1) ARSI = 4 W1 AR (B2 1) 0:43 .87
4 = FROEEKME 1) 0:40 .68 53 ERGE 1) RBMM-N -
SR BAL (AERHE 2) 0: 42 .21 6 /B R (GREE 2) 0:43 34
61r#E B3} (HT 1) 0:44 .03
7T/ EARGEBRRE 2) 0:43 .60 3 HH
2R ERER (R 1) 0:42 .87
3 A RNV = Oms) 1) 0:37 .82
2 & MR EEEME 2) 0: 42 .32 4REAR KRR 1) 0:38 .27
3K&E M CHRIL 1) 0:37 .80 5/ /KA 1) 0:38.79
4F5H EER(EFFE  2) 0:33.71 6 FEE: & (kE 1) 0:40.75
5 B i (1 2 2) 0:36.97 7 —EEGEHE 2) 0:41 .65
6 5 H KRB 1) 0:41.07
T AHREEAR (% 2) 0: 42 .46 4 %A
2 R ik GR 1) 0:34.52
4 %A 3 SEAHERAR (2 1) 0:37 .80
2 (0N Rl O#ERSCE 2) 0: 34 .40 4 E k(A 1) 0:36.63
3@ IS 1) 0:32.88 5 & MH il (5 2 2) 0:37 .64
4 PR IRk 2 ) FEHE 6 1= = (W& EERHE 2) 0:33 .59
Shil FERE (b 2) 0:32.15 TR ABRGER 1) RSN =
6 EEE R (FEFR 1) 0:32.74
5 %A
25 4 50 NHE T T A4 KA KL — AR 2 5 FFRESEES (VE % 2) 0: 41 .30
1 #H 3% R (R 2) 0:35 .69
3VTH EAE (A 2) 0:46 .19 415H B AT 2) 0:33.55
4R Bk (AR 2) 0:35.15 S5/ RAEQEEME 1) 0:33.02
55FE N iR 1) 0:43 .96 6 AP E AKX G 2) 0:35 .27
7 Wiy B (W&ALRE 1) 0:35 .26
2 #H
3HR AR (AR 2) 0:39.78 6 i
4 8fH  EML(C5 2) 0:40 .94 2EM KEWZ7E 1) 0:31.25
5 L H B AL (AL 2) 0:37.90 3R KGR 2) 0:29 .54
6 FEIL A (EEREERL 2) 0:44.79 4 (L A= (e 2) 0:28 .41
S B ORHERSCE 2) 0:29 .50
34 6 R (K 2) 0:32 .60
2\ ame (R 1) 0:36 .31 7T R ORE 2) 0:33.23
3YRH MR CGRRiEML 1) 0: 36 .81
40 A (WP 1) 0:36.77 27 7 50 IKE X A AL — AR
5/ HF5 CRUEREEIHL 1) 0: 36 .78 1 41
6 THF o (e 1) 0:38 .31 2FEH —EECHBEPEL 1) KA A1 -
7hE W& M 1) 0:43 46 3 KM Wehkd BRI 1) 0:48 .66
4tk R EHERE 1) 0:44 .96
4 A 5 T B R A (I Ik 2) 0:49 .64
2 fRJE A& (B R R 2) 0: 32 .54 6 i H (AR 1) 0:50 .89
3R EHECEEEWL 2) 0:31.92 7aH ERCHEPRL 1) BRI AN -
44 M D AR SC#L 2 ) 0: 30 .39 I HHT RS T
SHam B &M 1) 0:33.36 2
6 Vg Ry (ft@EMkiL 1) 0: 30 .89 2 FER (B 1) 0:46.78
7R BE(EE 1) 0:33.36 3deAR E(EEREERL 2) 0:47 .22
4 9 #E (eI 2) 0:45.06
26 %5 50 NH T T A B A LKL — AR 53 kil 1) 0:50 .26
1 4 6 BLH AL (EFFE 2) 0:45 .36
3ME KEEEBEE 1) 0:41 .20 7N S GEERR 1) 0:48 .92

4 J5U M 2 (AL 1) 0:44 .76
5EHE BEFORR 2) 0:43 .18



3 7 #

2 RN EF (ERME 2) 0: 44 .82 29l —HE(REIEM 1) 0:37.05
3/E S REE (REJI 1) 0:40 .57 3E& L B (R 2) 0:31.95 sUHE R
4 FIEHPE (KT 2) 0:37 .94 4 1@ su (B 1) 0:33 .31
5t ZEpe (MR AR 2) 0: 38 .05 SR FER(CER 2) 0:33.97
6 I D (FE 1) 0:41.98 6 B BEA (FE 2) 0:33.98
7fEE A (EELE 1) 0: 46 .66 740 — B (E 2) 0:38 .44
28 B 50 EIkE H A AL — APBE 29 4z 200 H X A L L — AR
18 1
28R Ak ORAEBSCE 1) 0: 46 .19 3 AR (kR 1) 3:14 .46
3TEE Bl (AR 2) 0: 47 .56 4Rk FHEEI 1) 2:52 .66
AREH MR (e 1) KA AN - 5%2v8 A EE (il 1) 2:57 28
54 H BE(ESBE 2) 0:46 .61 6 M L ( 1) 3:08 .47
6 I BR(EEFHE 1) JEHE
2 A
2 i LB B3 (i 1) 2:56 .83
25 H Al (A 2) 0:47 .17 2 BORE A (RS 2) 2:53 .93
3R RO 1) 3ERE 3 S ILETH (R 1) 3:07 .34
4 R CHIK (ke 1) KA b= = 438 N ()l 2) 3:10.70
53 BEZ ORI 1) 3k S5EHBNY (B E 1) 3:02.02
6 HH & (8 2) 0:46 .61 6 7 I D (KA 2) 3:09 .51
T/NE KAGEBRRE 1) 0:47 .16 7HF OBEAE@EEKE 1) 3:01.09
8 R AF (KA 2) 3:03.01
3 %A
2 it A = (F1 2 ) RHEIAb-nT = 3%
3ARE G 1) 0:42 .32 1RTH B (AR 2) 2:59.09
4/ i ORIE 1) 0:44 .60 2R AR (AR 2) 2:43 25
5 AR S (B 1) 0:46 .44 3N AEE (PR 2) 2:35 45
6 R BEN (R 1) 0:45.93 4 Bl REFECESR 1) 2:31.99
TRIL FAKGEEBRRE  2) 0:46 .69 5P RE OR#EBSCE 1) 2:29 .50
6 FAH kA (K%E 1) 2:40 .60
4 #H 7R RRE (eI 1) 2:40.03
2 D 2 R 2) 0:43 45 8KV FHHL(HEKE  2) 2:56.39
3 KRAMRFNE GE2 2) RAEIA WA=
4725, e Ol 1) 3k 4 1
S5 RN B (B 2) 0:41 .26 VgD PR (PR 2) 2:21 .46
6 AR MKE(H R 1) 0:42.15 2K BHEGHEKIL 2) 2:26.02
7 [if) FE S RS RIS (% 2 2) 0:45.13 3R FnZE (B 2) 2:17 .80
4HEIEY KL 1) 2:12 .26
5 %A 55K KA OXHECH 2) 2:18 .62
245 MPR(EEE 2) 0:43 41 6 P R (KA 1) 2:22 .41
3RER oo (WErEMTE 2) 0:41.79 7 RE B EE 2) 2:24 .78
4 H B (A 2) 0:41.73 8 [ RAE UR%E 1) 2:30.18
S5AR A G 1) 0:40.93
6 A FEERME 2) 0:42 .21 30 5 200 HHEEX A L L—ARBE
TRARBEZ S R SC# 1) 0: 37 .56 1 41
3KH A (E 2 ) RAEIA DTN =
6 K 4 )14 A %Ak 2) 2:46 .03
2RI REEGEEME 1) 3 5K (PR 2 ) KA A -
3R K—(FftEMkIL 1) 0: 36 .41
4/hH BT (MEEARIL 2) 0: 36 .80 2 KA
5% —HE R 2) 0:35.48 1 B 77 (g 2 ) FEHE
6 KT HEL&WEsr[  2) 0:43.70 2FF FHEOWEIN 1) 2:32 .31
7R HRE R 2) 0:43 .93 3R RS (MR ER 1) 3EME

4 BT EA (B 2) 2:33.79
S AR EK  2) 2:28 41
6 e BEGE 2) 2:33 .87
7ESE RAECIEIN 2) 2:36.97



3% 34 5 200 NE2 T T A4 B A N — AR

1 e 503 (AR 2) 2:35.28 1 8
2 Apfn AR (o)1 2) 2:33.55 18 B & 1) 3:35.63
3 xRl 2) 2:22.71 2 FK (% Ak 2) 3:14 .02
41 HEERRR 2) 2:27 45 3AFT ESF(EEE 2) 3:02 .45
5L 22 ()1 2) 2:27 .85 4 2 )1 ZE (W R(BHE 2) 2:55 .47
6 WHZER (—4 1) 2:30.32 ST mAE (A 2) 3:03.29
TREAINER(PEEK 2) 2:30.60 6 i) FH AR (1% 2 2 ) RAKHT 0 I LaE
8 EIKCRIL 2) 2:30.27 7 Bl s O 1) 3:20.73
4 2
| 22 B (W 2 2) 2:27.01 1 BB AR O 2) 2:58 .46
2 (LA B B O (9 22 2) 2:18 .56 2 mH 26 (GRRR 2) 2:43 44
3K &I (el 2) 2:09 .04 3F R BEGRAE 2) 2:45 26
4 THE 2B (S 1) 2:03 .94 4 bkt SRk G f 1) 2:26 .81
SHEA B WEFRE 2) 2:05.59 5 HH Fege )l 2) 2:44 11
6 PEIl 5L GRS 2) 2:13.75 6 fwH Ea5(m 2) 2:50 .82
78 H EORHESCE 2) 2:17 43 7 HH ENGER 2) 2:56 .56
8 kSRR (¥ Ak 2) 2:20.38 8 M HLE (Wi 2) 3:01 .46
31 Z¢ 200 Uk E X A L L — AWRpE
158 35 72 200 Pk E X A L L— AP
25 EAEGE 1) 3:35.92 1 A
3IEM BB R 2) 3:23 .27 3 FNH3 & FE (AR 1) 3:24 .97
4 1A B3 (HE R 1) 3:17 .17 4500 Ak (E 1) 3:19 .51
5 EH G 2) 3:22.07 S5EE BER(CSEK 1) 3:19 .92
6 RiE B GE 2) 3:26 .47
2
2 A 1A #E (eI 2) 3:16 .31
1 FnE A (B 2) 3:01 .94 2N EE IR 1) 2:56.08
2 B HAE (g 1) 2:46 .57 3FIRHEE (KE 2) 2:56 .51
3RR AL (e 1) 2:41 .61 4 MR ER(ESR 1) 2:45.19
4 58y Ry CRER 1) 2:36.90 5K e (kR 2) 2:40 .40
5 FZE OHRSC# 2) 2: 37 .87 6 Bift AL (K 1) 2:51 .35
6 It Al Ol 2) 2:38 .49 7TRME BRE - 2) 3:09 .24
7= mEORE 1) 3:04.17 8
SUE oM (kR 2) 3:18.93
36 5 200 Pk E X A L L— APRB
32 55 200 THIKE X A L L— APRB 1 2
1 48 1Rk R REMRE 2) I
3 FREEE (b 2) 3:12 .46 2 I BEE (ke 2) 3:17 .14
4 BRSO 2) 2:58.15 34 FEREI(PEESE 1) 3:11.06
5T RO (R 2) 2:54 .22 4381 RIE R EEME 1) JEHE
SHEARBEZ S R SC# 1) 3: 00 .84
2 6 BT fZER (GRS 2) 3:17 33
1B KRB (45 1) 2:46 .95 7 NILEE=TAR (7L 1) 3:14 .02
2 I Fd Ol 2) 2:47 .52 8 AFR K (WK 2) 3:21.14
3R PR (AR 2) 3:00.58
4/ BHE CRE 2) 2:23.92 2
5 KE MBI 2) 2:31.26 1) | A (i 2) 2:53.69
6 Fi FERGRE 2) 2:42 44 2 JEH Hr (hE 1) 2:40.09
TEA EEGE 2) 2:49 .08 3 —HE(RIER 1) 2:40 .01
QI EH(HEX 2) 2:54 .47 43K FER (R 2) 2:30 .87
5 9Pk tEVE (B 2) 2:30.62
33 & 200 NH T T A HA DL — AR 6 JRIL  FhAd OB SCE 2) 2: 41 .52
18 TVeRE B RAE 2) 2:54 24
3VEH FAMEEK 2) 3:38.02 8 i e NCr =Y 2) 3:12.52

41| FTE LR 2) 3:03.38
5 R &L 2) 3:13 .83
6 & WS4 (B 2) 3:22.13



37 £ 400 U L— & A L L— R 3 #H

1 4A 1 MEEBEIL 4: 26 .24
3R 5:43 .06 (e HoE- e K—-BEE @E- N B
GFE P rms< o Rl 7R HiK W55) 2 % [i] 4: 22 .45
4 BREEBE 5038 34 (& B -MEE M- AT EE-AkAE &)
deA -4 A -HE FiIR-EBL &3 3 74 4:23 .89
5 PE ALK 50 03 .55 (FEE 2ZE-WHZER B S BPR JOHE)
Chld Fifs-KiE FER-RERESR - BA 7B 4 A SCE 4: 10 .11

(W) 5L 3 BeL-fElL k- Bl =)
2 595 4:13 .65
1 5UERfEHL 5: 01 .84 (PEA MR- L FBRRRS - (LR I ORE - [ S S (i)
CCEH M= Bies-/ bR mHE-RE O ER) 6 1)1 4:24 75
2 E%BE 4: 59 .13 Bkt =2¥g-loc Bt-ghE A&l A
(EH =080 - H e % PSIRRIURE R Y 1)) 7R 4:25 25
3R 4: 47 30 (& H AEEHE S FIOL-RE BEAIEHE BK)
(kA ILH TE-®\HF -l R 8 MUl 4:19 .47
4 [t A 4: 29 .27 CaH JE-EE BER-AE BRIk EF)

(E% WE-BY &&-RE &R 2200
5 FUERSCHL 4: 26 .54

(BH LE-FK K- RE-PiE fizg)
6 ¥k 4: 32 .95

(ZJR ARl RR-EEER - EIEY)
7 ¥ o [ FEAE

W 2 [if]

385 400 UV L—X A LL— AR

1 4

3 PEEE 5: 09 .96

=N FEpE BY-EA OBE-KRE M)
4 EEEMR 5026 .35
(SR MR- (LA R
5 FUADE M HEHE

SR

6 FEARIEHE

JRRAR

=k R

St

2

LS 4: 57 .50

(EYe SpAE-HF -
2 BnC 4:43 .78

GEAR FER-INEER BRI Eh-Em )

=
&
z

3B 4:27 .59
(A — -l =3I BBl Gt
4 eIk 5: 20 .24

(P FR-ER E
5#db 4:22 .19

(5 E=6-FREHORE - A R

6 [EFBE 4: 44 .14

(LI YE KRR - B H B K- A H BE-RBA FIED
7 5 4: 43 .04

C%)5 A EA ZE L ES R )
8 THA % 4: 52 .41

(EF R R Bl ZE-UH 2

B

SRR B R Ki)



